David Luo
Exercise 4.38
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Use Stirling’s Approximation:

3N/ (V1Y = NerN @)Y/ (VaaN ()T
(BN)!/(NY) AN/ [V2aN(E) ] What about the (1+O(1/N))

This expression here is _ emvEy™ _ 3N terms?
. . .. ZaN 27N (I;; )EI 2nN
sufficient if error term is include

=23 (1 + Nlog(27) +AN*1og(27) + LN 10g(27) + O(N*)

-1

| don't follow this equality.
= N'E +8log(27) + NElog?(27) + N2 log(27) + OV°) How are you applying the
Taylor series expansion?
-1 If it's using e*3N you
dropped the multiplicative
(3/e)*3N term
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